Math 157 - Quiz 5 Name key
October 1, 2014 3 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (6 points) Determine each derivative.

[

(a) % (5z* — 8z +4r 1) = : 80X3~ AR y(a-\- \“( l
e S

(c) %(1275—%—1060'%) = \@ + \o ec'aéC (o. 3}

_ [ Qogt7
= é/a + Qe J

2. (3 points) Find an equation of the line tangent to the graph of f(x) = 6 — 3z 4 522 at
the point where z = 2.
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3. (1 points) What is the instantaneous rate of change of s(t) = 5In(t) € poi
where t = 17
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